
H–121 

(Assignment Work)

(Group–I)
 FINANCIAL ACCOUNTING

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- ys[kkadu D;k gS \ 
What is Accounting ? 

2- ryiV D;k gS \ 
What is Trial Balance ? 

3- ewY;kl ls vki D;k le>rs gSa \ 
What do you mean by Depreciation ? 

4- xqIr lap; D;k gS \ 
What is Secret Reserve ? 

5- vkfJr ‘kk[kk fdls dgrs gSa \ 



What is called Dependent Branch ? 

6- lk>snkjh D;k gS \ 
What is Partnership ? 

7- [;kfr ls vki D;k le>rs gSa \ 
What do you mean by Goodwill ? 

8- lk>snkjh QeZ ds fo?kVu ds D;k dkj.k gks ldrs gSa \ 
What are the causes of dissolution of a partnership firm ? 

[k.M&c 
(Section—B) 

9- [kkrkcgh D;k gS \ 
What is Ledger ? 

10- vk;xr O;; ls D;k vk’k; gS \ 
What is the meaning of Revenue Expenditure ? 

11- ewY;kl dh okf”kZd òfŸk iz.kkyh D;k gS \ 
What is annuity method of providing depreciation ? 

12- izko/kku ls vki D;k le>rs gSa \ 
What do you mean by provision ? 

13- fdjk;k Ø; rFkk m/kkj Ø; esa vUrj crkb,A 
What is the difference between hire purchase and purchase of credit ? 

14- QeZ ds fo?kVu ls vki D;k le>rs gSa \ 
What do you understand by dissolution of a firm ? 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- iw¡thxr O;; ls D;k vk’k; gS \ 

What is the meaning of Capital Expenditure ? 

16- ewY;kl dh fofHkUu fof/k;ksa dks laf{kIr esa crkb,A 

Discuss the various methods of depreciation. 



17- iquewZY;kadu [kkrk D;k gS \ 

What is Revaluation Account ? 

18- ‘;ke ds ekg twu ds ysu&nsu uhps fn;s x;s gSA budh tuZy esa izfof”V dhft, % 

tuojh 
2021 

 
` 

1 ‘;ke us jksdM+ ls O;olk; vkjaHk fd;k 1,00,000 

2 cSad esa jksdM+ tek dh 25,000 

3 dPpk eky udn [kjhnk 5,000 

4 dk;kZy; gsrq cSad ls #i;s fudkys 1,000 

13 jke dks m/kkj eky cspk 1,500 

20 eksgu ls dPpk eky m/kkj Ø; fd;k 225 

24 jke ls udn feys 1,500 

31 fdjk;k fn;k 50 

31 eksgu dks udn fn;s 225 

31 ekg dh udn fcØh 800 

31 v’kksd dks osru fn;k 100 

Transactions of Shyam for the month of June are given below. Journalized them : 

January
 2021 

 
` 

1 Shyam started business with 
cash 1,00,000 

2 Cash deposited in bank 25,000 

3 Bought raw material for cash 5,000 

4 Withdrew cash from bank for 
office 1,000 

13 Sold to Ram goods on credit 1,500 

20 Bought from Mohan raw 
material on credit 225 

24 Received cash from Ram 1,500 

31 Rent paid 50 

31 Paid cash to Mohan 225 



31 Cash sales for the month 800 

31 Paid salary to Ashok 100 

 
l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 
(Section—D) 

19- ys[kkadu ds dk;Z ,oa ykHkksa dk o.kZu dhft,A 
Discuss the functions and benefits of Accounting. 

20- ckykth VªkaliksVZ dEiuh us 5 Vªd izR;sd ` 10]00]000 ds  
1 tqykbZ] 1997 dks Ø; fd;sA 1 tuojh] 2000 dks ,d Vªd nq?kZVukxzLr gks x;k rFkk iw.kZr;k u”V 
gks x;kA chekdrkZ ls blds iw.kZ fuLrkj.k esa ` 4]00]000 izkIr gq,A mlh frfFk ij dEiuh us ` 
12]00]000 dk ,d vU; Vªd Ø; fd;kA dEiuh izfr o”kZ ewy ykxr ij 20% viys[ku djrh gS rFkk 
viuh iqLrdsa izfr o”kZ 31 ekpZ dks cUn djrh gSA 31 ekpZ] 2001 dks lekIr gksus okys nks o”kZ dk 
eksVj Vªd [kkrk cukb,A 
The Balaji Transport Company purchased 5 trucks at  
` 10,00,000 each on 1, July 1997. On 1 January, 2000 one truck crashed and was completely 
destroyed.  
` 4,00,000 was received from the insurer for its complete settlement. On the same date 
another truck is purchased by the company for ` 12,00,000. The company writes off 20% on 
the original cost per annum and closes its books every year on 31st March. Give the Motor 
Trucks account for two years ending 31st March, 2001. 

21- xSj&O;kikfjd laxBu ls vki D;k le>rs gSa \ buesa dkSu&ls vafre fooj.k i= cuk, tkrs gSa \ 
le>kb,A 
What do you understand by non-trading organization ? What are the final statement prepared 
in it ? Discuss. 

22- lqizhe fyfeVsM dk iz/kku dk;kZy; y[kuÅ esa gS vkSj bldh ‘kk[kk vkxjk esa gSA ;g ‘kk[kk udn ,oa 
m/kkj nksuksa izdkj dh fcØh djrh gSA fuEukafdr lwpukvksa ds vk/kkj ij tks 2020&21 iz/kku dk;kZy; 

vkSj ‘kk[kk ls lEcfU/kr gS lqizhe fyfeVsM dh iqLrdksa esa ‘kk[kk [kkrk vkSj nsunkj [kkrk cukb, % 

 ` 

izkjafHkd jgfr;k 10,000 

vafre jgfr;k 6,000 



izkjafHkd nsunkj 5,000 

[kqnjk jksdM+ dh izkjafHkd ckdh 30 

‘kk[kk us eq[; dk;kZy; ls eky izkIr fd;k 34,000 

m/kkj foØ; 30,000 

udn foØ; 20,000 

nsunkjksa ls jksdM+ izkIr dh 10,000 

O;;ksa ds fy;s ‘kk[kk dks jksdM+ Hksth 2,000 

‘kk[kk }kjk eky ykSVk;k 500 

xzkgdksa us eky ykSVk;k 3,000 

xzkgdksa dks dVkSrh nh 500 

vizkI; _.k 1,500 

iz/kku dk;kZy; ls 31 ekpZ] 2021 dks eky 
ekxZ esa 1,000 

Supreme Ltd. has its head office at Lucknow and branch at Agra. This branch sells for cash 
as well as credit. With the help of the following transactions which took place between head 
office and branch office in the year 2020-21, prepare Branch Account and Debtors Account 
in the books of Supreme Ltd. : 

 ` 

Opening Stock 10,000 

Closing Stock 6,000 

Opening Debtors 5,000 

Opening balance of Petty Cash 30 

Goods received by the Branch from Head 
Office 34,000 

Credit Sales 30,000 

Cash Sales 20,000 

Cash received from Debtors 10,000 

Cash sent to branch for expenses 2,000 

Goods return by Branch 500 



Goods return by customers 3,000 

Discount allowed to customers 500 

Bad Debts 1,500 

Goods in transit from Head Office on 
31st March, 2021 1,000 

 
l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 
             (Section—E) 

23- ^ys[kkadu* ‘kCn dh ifjHkk”kk nhft,A ys[kkadu dh izd`fr] dk;ks± ,oa ykHkksa dk o.kZu dhft,A 

Define the term ‘Accounting’ and discuss the nature, functions and advantages of 

accounting. 

24- jk/kk rFkk eksgu 3 % 1 ds vuqikr esa ykHk dk c¡Vokjk djus okys lk>snkj gSaA 31 ekpZ] 2009 dks 
mudk vkfFkZd fpV~Bk fuEufyf[kr Fkk % 

nkf;Ro ` lEifŸk;k¡ ` 

iw¡th [kkrk %  Hkou 20,000 

jk/kk     30]000  QuhZpj 6,000 

eksgu    10]000 40]000 jgfr;k 20,000 

nsunkj  40,000 nsunkj 5,000 

  jksdM+ 29,000 

 80,000  80,000 

mUgksaus xksfoUn dks fuEufyf[kr ‘krks± ij lk>snkjh esa ‘kkfey fd;k % 

(i)  ` 30]000 dh [;kfr lf̀tr gksuh gSA 

(ii)  QuhZpj ij kl 10% yxkuk gSA 

(iii)  jgfr;k dk ewY;kadu ` 18]000 yxkuk gSA 
(iv)  fofo/k nsunkjksa ij lansgkLin _.k ds fy;s 10% izko/kku djuk gSA 
(v)  Hkou dk ewY;kadu 25% c<+kuk gSA 

(vi)  xksfoUn ykHkksa ds ଵ
ସ
 Hkkx gsrq ` 10]000 yk,xkA 



tuZy ys[ks dhft, rFkk xksfoUn ds izos’k ds ckn iquewZY;kadu [kkrk] lk>snkjksa ds iw¡th [kkrs rFkk 
vkfFkZd fpV~Bk cukb,A 
Radha and Mohan are partners sharing profit in the ratio 3 : 1. Their Balance Sheet as at 31-
3-2009 was as follows : 

Liabilities ` Assets ` 

Capital A/c :  Building 20,000 

Radha    30,000  Furniture 6,000 

Mohan  10000 40000 Stock 20,000 

Creditors 40,000 Debtors 5,000 

  Cash 29,000 

 80,000  80,000 

They decided to admit Govind into partnership on the following terms : 

(i)  Goodwill of ` 30,000 be created. 

(ii)  Depreciate furniture by 10% 

(iii)  Stock has to be valued at ` 18,000. 

(iv)  Provision of doubtful debts at 10% be created on sundry debtors. 

(v)  Premises have to be valued higher by 25%. 

(vi)  Govind shall bring ` 10,000 for 
ଵ

ସ
th share of profits. 

Make Journal entries and show Revaluation Account, Capital Accounts of partners and 
Balance Sheet after admission of Govind. 

 
 
 
 
 
 
 
 
 
 
 

 

 
 

 

 



H–122 

(Assignment Work)

(Group–I)

 BUSINESS MATHEMATICS

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- nks Qyuksa ds HkkxQy ds vodyu dk lw= fyf[k,A 
Write the formula of derivative of quotient of two functions. 

2- fdlh la[;k ds ?kkr dk y?kqx.kd] la[;k ds y?kqx.kd rFkk ----------------------------- ds xq.kuQy ds cjkcj gksrk 
gSA 
The logarithm of a number raised to a power is equal to the product of the ............... and the 
logarithm of the number. 

3- 
2 2

2 2
A

0 5 

 
  
 

 dkSu&lk vkO;wg gS \ 

Which type of matrix is 
2 2

2 2
A

0 5 

 
  
 

 ? 



4- n n  jkf’k;ksa dks nks lekUrj yEcor~ js[kkvksa ds e/; oxZ vadk;r esa n iafDr;ksa rFkk n LrEHkksa esa 
O;ofLFkr fd;s x;s Øe foU;kl dks ----------------------------------- dgrs gSaA 
An arrangement of n n  quantities in n rows and n columns of a square array between two 
parallel vertical lines is called ................ . 

5- js[kh; izØeu rduhd esa ------------------------------- rFkk le; ds izHkko dks egRo ugha fn, tkus ds dkj.k Hkkoh 
ifj.kkeksa esa fo’oluh;rk ugha jgrhA 
Due to ................ and not giving importance to the effect of time, there is no reliability in 
future results in linear programming techniques. 

6- A  dh vk;q B  dh vk;q dh vk/kh gSA mudh vk;q dk vuqikr D;k gS \ 
A’s age is half that of B’s age. What will be the ratio of their age ? 

7- pØòf) C;kt esa feJ/ku Kkr djus dk lw= fyf[k,A 
Write the formula for find out amount in compound interest. 

8- 0-03 dks izfr’kr esa cnfy,A 
Convert the 0.03 into percentage. 

[k.M&c 

(Section—B) 

9- vodfyr dhft, % 
4 37 3 8 7x x x     

Differentiate : 

4 37 3 8 7x x x   . 

10- y?kqx.kd lkj.kh dh lgk;rk ls ¼9-42½2 dk eku Kkr dhft,A 

Find the value of (9.42)4 with the help of log table. 

11- ;fn 
0 1

A
3 2

 
  
 

 rFkk 
1 2

B
0 3

 
  
 

 Gs] rks AB dk eku Kkr dhft,A 

If 
0 1

A
3 2

 
  
 

 and 
1 2

B
0 3

 
  
 

 then find the value of AB. 

12- nks O;fDr;ksa dk ekfld osru 5 % 6 ds vuqikr esa gSA ;fn izR;sd ds ekfld osru esa ` 20 dh òf) 

dh tk;s] rks u;k vuqikr 6 % 7 gks tkrk gSA muds osru crkb;sA 

The monthly salaries of two persons are in the ratio of 5 : 6. If each receives an increase of ` 

20 in the monthly salary the new ratio becomes 6 : 7. Find their salary. 



13- 15 la[;kvksa dk vkSlr 15 gS rFkk izFke 8 la[;kvksa dk vkSlr 8 gSA vafre 7 la[;kvksa dk vkSlr 
Kkr dhft,A 
The average of 15 numbers is 15 and the average of the first 8 numbers is 8. Find out the 
average of the last  
7 numbers. 

14- ,d mEehnokj dks 65% oksV feys rFkk og 2]745 oksVksa ls fot;h jgkA crkb;s dqy fdrus oksV iM+s \ 
A candidate wins the election by 2,745 votes getting 65% votes. Find the total number of 
votes cast. 

 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- y?kqx.kd lkj.kh dh lgk;rk ls fuEufyf[kr dk eku Kkr dhft, % 
2

3(0.0991)   

Find the value of the following with the help of log table : 
2

3(0.0991)  

16- fuEufyf[kr lkjf.kd dk eku fudkfy, % 
5 4 16

12 3 28

20 7 52

  

Find out the value of the following determinant : 

5 4 16

12 3 28

20 7 52

 

17- js[kh; izØeu ds iz;ksx ds {ks=ksa dk mYys[k dhft,A 
State the application areas of Linear Programming. 

18- vkSlr dh mi;ksfxrk o lhekvksa dks fyf[k,A 
Write the utility and limitations of average. 

 

 

 

 



 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- 3 2Y 2 15 72 11x x x     dk mfp”B ,oa fufEu”B eku Kkr dhft,A 
Find the maxima and minima value of the : 

3 2Y 2 15 72 11x x x    . 

20- lkjl ds fu;e }kjk fuEukafdr lkjf.kd dks gy dhft, % 
2 4 6

7 9 11

13 15 17

 

Solve the following determinant by Sarrus’ rule : 

2 4 6

7 9 11

13 15 17

  

21- veu vkSj u;u dh vk;ksa] O;;ksa rFkk cprksa ds vuqikr Øe’k% 5 % 3] 8 % 5 rFkk 2 % 1 gSaA ;fn nksuksa 
dh la;qDr cpr ` 3]600 okf”kZd gks] rks mudh ekfld vk; Kkr dhft,A 
The ratios of incomes, expenditures and savings of Aman and Nayan are respectively 5 : 3, 8 
: 5 and 2 : 1. The joint savings of both the them are ` 3,600 in a year, find their monthly 
income. 

22- okf”kZdh ds izdkjksa dks le>kb,A 
Explain the types of Annuity. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- 
225.25 .00345 (345)

405.26

   dk eku Kkr dhft,A 

Find the value of 
225.25 .00345 (345)

405.26

 
. 

24- ,d Qy foØsrk dqN larjksa dks 20% ykHk ij csprk gSA ;fn og bUgsa 20% de ewY; ij Ø; djrk 
vkSj ` 20 de esa csprk] rks mls 2

3
16 %  dk ykHk gksrkA larjksa dk Ø; ewY; crkb;sA 



A fruitseller salles some oranges at 20% profit. If he had bought them at 20% less than he 

did and sold them for ` 20 less, he would have gained a profit of 2
3

16 % . Calculate the 

purchase price of oranges. 

 
 
 

 

 
 

 

 



H–123 

(Assignment Work)

(Group–II)

 O;kolkf;d lapkj ,oa lEizs”k.k

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- lapkj ds fyf[kr lk/ku dk ,d mnkgj.k nhft,A 

Give an example of a written means of Communication. 

2- lapkj dh lwpuk fopkj/kkjk dk izfriknu ----------------- }kjk fd;k x;k FkkA 

The information theory of communication was propounded by ............. . 

3- Msfol }kjk vaxwjh yrk Ük`a[kyk dks ------------ Hkkxksa esa ck¡Vk x;k gSA 

Davis divided gravevive communication chain into ............ types.  

4- lapkj esa Hkk”k.k ---------------- Ük`a[kyk esa vkrk gSA 



Speech in communication falls under ............. chain. 

5- vkns’k i= esa loZizFke foØsrk dks ----------------- nsrs gSaA 

In the order letter, first of all .............. is given to the seller. 

6- lQy izLrqrhdj.k ,d ---------------- iz;kl gSA 

Successful presentation is a ............ effort.  

7- ‘kkjhfjd Hkk”kk dk ,d mnkgj.k nhft,A 

Give an example of body language. 

8- varj&lkaLd`frd laizs”k.k ds ,d ?kVd dk uke fyf[k,A 

Name one component of intercultural communication. 

[k.M&c 

(Section—B) 

9- lapkj izfØ;k esa okfgdk D;k gS \ 

What is channel in the process of communication ? 

10- vkRefodkl ds nks izeq[k mís’; crkb,A 

Write two key objectives of self development. 

11- O;kikfjd i= ds nks izeq[k mís’; fyf[k,A 

Write two key objectives of business letter. 

12- izfrosnu ls D;k vk’k; gS \ 

What is the meaning of report ? 

13- lk{kkRdkj ds ykHk D;k gSa \ 

What are the objectives of interviews ? 

14- ohfM;ks dkWUÝasfUlax D;k gS \ 

What is Video Conferencing ?  

 

 
 



l=h; dk;Z&2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- lapkj ds Hkkjrh; izfr:i ij fVIi.kh fyf[k,A 

Write a note on Indian models of communication. 

16- iwNrkN ds izdkjksa dks le>kb,A 

Explain the types of enquiries. 

17- vkSipkfjd rFkk vukSipkfjd lapkj esa vUrj Li”V dhft,A 

Differentiate between Formal and Informal communication.  

18- ‘kkjhfjd Hkk”kk ds ykHkksa dks Li”V dhft,A 

Explain the benefits of body language. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 

(Section—D) 

19- ,d izHkko’khy lapkj dh izfØ;k dk foLrr̀ o.kZu dhft,A 

Describe in detail the process of effective communication. 

20- vaxwjhyrk lEizs”k.k Ükà[kyk ds izdkjksa dks Li”V djrs gq, muds xq.k&nks”k dk voyksdu dhft,A 

Explain the types of grapevine communication chain and discuss its merits and demerits. 

21- viuh ilan dk mnkgj.k ysrs gq, ,d vkns’k&i= fyf[k,A 

Write an order letter taking an example of your own choice. 

22- ‘kkjhfjd Hkk”kk ds izdkj D;k gSa \ buds xq.k&nks”k dh O;k[;k dhft,A 

What are the types of body language ? Explain its advantages and limitation. 

 

 



l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 

(Section—E) 

23- izHkko’kkyh vkRe&lkj dSls fy[kk tkrk gS \ vkRe&lkj fy[kus dh fo”k;&lkexzh dks foLrkj ls 

le>kb,A 

How to write an effective resume ? State the contents of writing resume in detail.  

24- O;kikj esa iz;qDr lapkj ds izeq[k lk/kuksa dh foLrr̀ O;k[;k dhft,A 

Explain in detail the major means of communication used in business. 

 

 

 
 
 
 
 
 
 

 

 
 

 

 



H–124 

(Assignment Work)

(Group–II)
 O;kolkf;d fu;eu ,oa :Ikjs[kk

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

 [k.M&v 
(Section—A) 

lR;@vlR; crkb, % 

State true/false : 

1- izLrko dh LohÑfr ‘krZ&lfgr gks ldrh gSA ¼lR;@vlR;½ 

Acceptance of a proposal can be conditional.   (True/False) 

2- fu”iknu dh vlEHkork ls Bgjko O;FkZ gksrk gSA   ¼lR;@vlR;½ 
The agreement is void on account of impossibility of performance. (True/False) 

3- foØ; vuqcU/k esa LoRo xÆHkr ----------- gSA ¼vk’oklu@’krZ½ 
In a contract of sale title is an implied.......... .          (Warranty/Condition) 



lgh mŸkj pqfu, % 

Choose the correct answer : 

4- lqiqnZxh dh ifjHkk”kk dh /kkjk gS % 
 ¼v½ /kkjk 2¼2½ ¼c½   /kkjk 2¼10½ 
 ¼l½ /kkjk 2¼12½ 

Section of delivery is : 

(a) Section 2(2) (b) Section 2(10) 

(c) Section 2(12) 

5- buesa ls dkSu&lk fofue;lk/; foys[k ugha gS \ 
 ¼v½ fofue; i= ¼c½ pSd 
 ¼l½ gq.Mh ¼n½  izfrKk i= 

Which of the following is not a Negotiable  Instrument ? 

(a) Bill of Exchange (b) Cheque 

(c) Hundi  (d) Promissory note 

6- ewyHkwr ifjorZu ls ys[ki= dh izÑfr ------------ tkrh gSA 
The nature of instrument.........on account of material alteration. 

7- jkT; vk;ksx ds lnL; dh U;wure vk;q gksrh gS % 
 ¼v½ 20 o”kZ ¼c½   30 o”kZ 
 ¼l½ 35 o”kZ 

The minimum age of a member of State Commission is : 

(a) 20 years  (b)  30 years 

(c) 35 years 

8- ftyk miHkksDrk eap ds lnL; dh U;wure ;ksX;rk gksrh gS % 
 ¼v½ b.VjehfM,V ¼c½  Lukrd 
 ¼l½ LukrdksÙkj 

The minimum qualification of the member of District Consumer Formum is : 

(a) Intermediate (b) Graduate 

(c) Post-Graduate 

[k.M&c 
(Section—B) 

9- D;k lHkh Bgjko vuqcU/k gksrs gSa \ 



Are all the agreements are contract ? 

10- lg&izfrHkw ls vki D;k le>rs gSa \ 

What do you understand from co-surety ? 

11- lqiqnZxh dk <ax D;k gS \ 
What is mode of delivery ? 

12- iqf”Vdj.k ls D;k vk’k; gS \ 
What is meant by ratification ? 

13- fjDr cspku D;k gS \ 
What is blank endorsement ? 

14- l{ke izkf/kdkjh dks ifjHkkf”kr dhft,A 
Define competent authorities. 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- diV rFkk feF;kdFku esa vUrj fyf[k,A 
Write the difference between fraud and misrepresentation. 

16- fuLrh.kZ gtkZuk rFkk n.M esa vUrj crkb,A 
Explain the difference between liquidity damages and penalty. 

17- Øsrk dh lko/kkuh dks le>kb,A 
Explain caveat emptor. 

18- jkT; vk;ksx ij fVIi.kh fyf[k,A 
Write a note on State Commission. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- vuqcU/k ds fu”iknu dh ifjHkk”kk nhft,A vuqcU/k vf/kfu;e ds v/khu Hkqxrku ds fu;kstu lEcU/kh 
fu;eksa dks fyf[k,A 



Define the performance of a contract. Discuss the rules relating to appropriation of payments 
under the Contract Act. 

20- lkadsfrd lqiqnZxh D;k gS \ lqiqnZxh rFkk ewY; ds Hkqxrku lEcU/kh fu;e crkb,A 
What is symbolic delivery ? State law relating to delivery and payment of price. 

21- fofue;lk/; ys[ki= D;k gS \ ,d fofue;lk/; ys[ki= ds ;Fkkfof/k/kkjh ds D;k vf/kdkj gSa \ 
What is Negotiable Instrument ? What are rights of a holder in due course of negotiable 
instrument ? 

22- foØ; vuqcU/k ds fu”iknu ds lEcU/k esa Øsrk rFkk foØsrk ds vf/kdkjksa dk o.kZu dhft, A 
Describe the rights of the buyer and the seller in connection of the performance of a contract 
of sale. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- izLrko ls vki D;k le>rs gSa \ blds eq[; y{k.k ,oa oS/kkfud fu;e crkb,A 
What do you understand by proposal ? Discuss its main features and legal rules. 

24- ftyk miHkksDrk eap D;k gS \ ftyk eap dh jpuk] {ks=kf/kdkj ,oa vf/kdkjksa dk o.kZu dhft,A 
What is District Consumer Forum ? Explain the composition, jurisdiction and powers of 
District Forum. 

 

 
 
 
 
 
 

 

 
 

 

 



H–125 

(Assignment Work)

(Group–III)
 

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- ^vko’;drk foghurk dk y{; lq[k iznku djrk gSA* ;g dFku fdldk gS \ 

Whose is the statement of ‘The goal of needlessness provides happiness’ ? 

2- fdlh oLrq dh dher dk fu/kkZj.k ------------------- dh lfEefyr ‘kfDr;ksa }kjk gksrk gSA 

Determination of the value of something is ............. by the combined powers. 

3- mRiknu cUn dj nsus ij ifjorZu’khy ykxrsa D;k gks tkrh gS \ 

What are the variable costs when production is stopped ? 



4- vkSlr fLFkj ykxr oØ fdl vksj tkrk gS \ 

What does the average fixed cost curve lead to ? 

5- vYikf/kdkj esa foØsrkvksa dh la[;k fdruh gksrh gS \ 

How many sellers are there in oligopoly ? 

6- ,d QeZ lkE; esa dc dgh tkrh gS \ 

When will a firm be said in equalibrium ? 

7- Je dh ek¡x D;k dgykrh gS \ 

What is demand for labour called ? 

8- lkglh dh lhekar vk; mRikndrk oØ dk <ky fdl rjQ gksrk gS \ 

On which side does the slope of the income productivity curve of the advantages slope down 

? 

[k.M&c 

(Section—B) 

9- xkSlsu dk igyk fu;e D;k gS \ 

What is the first law of Gossen ? 

10- ek¡x ds fu;e ds nks izeq[k viokn crkb,A 

Mention two important exceptions of the law of demand. 

11- ekSfnzd ykxr ls D;k vk’k; gS \ 

What is meant by money costs ? 

12- cktkj D;k gS \ 

What is Market ? 

13- lk/ku dh ek¡x dk vfHkizk; crkb,A 

Explain the term Demand for Factor. 

14- lhekUr Hkwfe ls D;k vk’k; gS \ 

What is meant by Marginal Land ? 

 



l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- le;kuqlkj mRiknu Qyu fdrus izdkj dk gksrk gS \ 

What are types of production function according to time ? 

16- vkSlr ykxr vkSj lhekUr ykxr esa vUrj Li”V dhft,A 

Differentiate between the average cost and marginal cost. 

17- iw.kZ izfr;ksfxrk ,oa ‘kq) izfr;ksfxrk esa D;k vUrj gS \ 

What is the difference between perfect competition and pure competition ? 

18- rjyrk tky dks lfp= le>kb,A 

Diagrammatically explain the liquidity trap. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 

(Section—D) 

19- mRiknu dh ek=k dks izHkkfor djus okys vkarfjd rRo dkSu&ls gSa \ 

Which are the international factors affecting the volume of production ? 

20- fofHkUu izdkj ds vYidkyhu vkSlr ykxr oØ ds lEcU/k dks Li”V dhft,A 

Explain the relationship between different types of short run average cost curves. 

21- cktkj D;k gS \ iw.kZ izfr;ksfxrk cktkj dh fo’ks”krkvksa dk o.kZu dhft,A 

What is Market ? Explain the features of a perfect competition market. 

22- forj.k ds fl)kUr ls D;k rkRi;Z gS \ forj.k dh izeq[k leL;k,¡ D;k gSa \  

What do you understand by the Theory of  Distribution ? What are the main problems of 

distribution ? 

 



l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 

(Section—E) 

23- iwfrZ dk D;k vFkZ gS \ oLrq dh iwfrZ dks izHkkfor djus okys dkjdksa dh foospuk dhft,A 

What is the meaning of Supply ? Discuss the determining factors of supply of a commodity. 

24- C;kt ds m/kkj ns;&dks”k fl)kUr dh vkykspukRed O;k[;k dhft,A 

Critically explain the Loanable Fund Theory of Interest. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 

 

 



H–126 

(Assignment Work)

(Group–III)

 O;kolkf;d i;kZoj.k 

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- vkfFkZd okrkoj.k D;k gS \ 

What is economic environment ? 

2- NI dks iw.kZ :i esa fyf[k,A 

Write the full form of NI. 

3- cpr dh ifjHkk”kk fyf[k,A 

Write the definition of savings. 



4- vkfFkZd fodkl D;k gS \ 

What is economic development ? 

5- izorZu D;k gS \ 

What is Promotion ? 

6- mnkjhdj.k D;k gS \ 

What is Liberalization ? 

7- IEG dks iw.kZ :i esa fyf[k,A 

Write the full form of IEG. 

8- WTO dks iw.kZ :i esa fyf[k,A 

Write the full form of WTO. 

[k.M&c 

(Section—B) 

9- Hkkjr esa lkoZtfud {ks= D;k gS \ 

What is the public sector in India ? 

10- csjkstxkjh feVkus ds mik; fyf[k,A 

Write the measures to eradicate unemployment. 

11- Hkkjr esa {ks=h; vlUrqyu ds dkj.k fyf[k,A 

Write the causes of regional imbalances in India. 

12- Hkkjrh; jktdks”kh; uhfr ds y{k.k fyf[k,A 

Write the features of Indian Fiscal Policy. 

13- iw¡th [kkrk O;ogkj D;k gS \ 

What is Capital Account Transaction ? 

14- uk¶Vk (NAFTA) D;k gS \ 

What is NAFTA ? 



l=h; dk;Z& 2 

(Assignment—2) 

[k.M&l 

(Section—C) 

15- eqnzk dh ek¡x ls D;k vk’k; gS \ 

What is meant by demand of money ? 

16- Hkkjr esa xzkeh.k xjhch ds D;k dkj.k gaS \ 

What are the causes of rural poverty in India ? 

17- ckjgoha iapo”khZ; ;kstuk ds lalk/kuksa ds vkcaVu dk o.kZu dhft,A 

Explain the resource allocation in Twelfth Five Year Plan. 

18- vUrjkZ”Vªh; O;kikj ds ykHk o gkfu;ksa dks fyf[k,A 

Write the advantages and disadvantages of International Trade. 

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- futh {ks= ls vki D;k le>rs gSa \ bldh D;k leL;k,¡ gSa \ 

Discuss about Private Sector. What are its problems ? 

20- lkekftd vU;k; ls vki D;k le>rs gSa \ blds D;k dkj.k gSa \ 

What do you understand by Social Injustice ? What are the causes of it ? 

21- ubZ ykblsfUlax uhfr dh eq[; ckrksa dk o.kZu dhft, rFkk blds xq.k o nks”k crkb,A 

Discuss the main things of New Licensing Policy and explain its merits and demerits. 

22- fo’o O;kikj dh orZeku lajpuk o fn’kk dk o.kZu dhft,A 

Explain the present structure and direction of world trade. 



l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- vkS|ksfxd #X.krk ds mipkj ds fy, vki fdu mik;ksa dk lq>ko nsaxs \ bl lUnHkZ esa iqulaLFkkiu 

vFkok izcU/k ds jkT; }kjk vf/kxzg.k ds mik; dh foospuk dhft,A 

What measures will you suggest to remedy industrial sickness ? In this context, explain 

either rehabilitation or government take-over of management as a remedial measure. 

24- fo’o cSad dh LFkkiuk ds mís’; crkb,A blds izcU/k] laxBu ,oa dk;Ziz.kkyh dk o.kZu dhft,A 

Elucidate the objectives of World Bank. Describe its management, organisation and 

working. 

——— 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 


